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Listening Comprehension (20 minutes)

Section A

Directions In this section, you will hear 10 short conversa-
tions. At the end of each conmversation, a question will be asked
about what was said. The conversation and the question will be
spoken only once. After each question there will be a pause. Dur-
ing the pause , you must read the four choices marked A), B), C)
and 1)), and decide which is the best answer. Then mark the cor-
responding letter on the Answer Sheet with a single line through the
centre.
Example You will hear : M: Is it possible for you to work late,
Miss Grey?
W: Work late? I suppose so ,if you
really think it’s necessary.
Q: Where do you think this conversa-
tion most probably took place?
You will read : A) At the office.
B) In the waiting room.
C) At the airport.
D) In a restaurant.
Sample Answer [A-][B][C][D]
From the conversation we know that the two were talking

about some work they have to finish in the evening. This is most
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likely to have taken place at the of fice. Therefore, A) At the of-
fice” is the best answer. You should choose [A] on the Answer

Sheet and mark it with a single line through the centre.

Section B

Directions In this section , you will hear 3 short passages. At
the end of each passage , you will hear some questions. Both the
passage and the questions will be spoken only once. After you hear a
question, you must choose the best answer from the four choices
marked A), B), C) and D). Then mark the corresponding letter
on the Answer Sheet with a single line through the centre.
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Test

_ Test 1
Section A
1. A) In a car. C) At the station.
B) At a bus stop. D) In a bus.
2. A) Helper and boss. C) Nurse and patient.
B) Student and teacher. D) Daughter and father.
3. A) It’s better to start the trip on Saturday.

B) Either Saturday or Sunday would be fine.
C) It’s fine to put it off till Sunday.
D) It’s better to cancel the trip to West Lake.

. A) Bob gave it away.

B) She left it in the office.
C) A relative of the man’s borrowed it.
D) She can’t remember where she keeps it.

. A) Files. C) Some pieces of paper.
B) The computer. D) Newspapers.

. A) To go to the station. C) To go to the airport.
B) To go skating. D) To go to a concert.

. A) Jim ordered the food.

B) Jim will pay the bill.
C) George and Jim will pay the bill.
D) George will pay the bill.

. A) He’s a weatherman. C) He is a dealer.

B) He’s a mechanic. D) He is a painter.

. A) The man likes beef best.



B) The man likes chicken best.

() Chicken is served next to beef.

D) The next dish will be chicken.
10. A) One meter eighty-two.

B) One meter eighty.

C) One meter seventy-eight.

D) One meter eighty-one.

Section B

Passage One

Questions 11 to 13 are based on the passage you have just heard.
11. A) For 300 years.
B) For more than a century and a half.
C) For several decades.
D) For five generations.
12. A) Weather condition.
B) Perfect natural Environment.
C) Steady supply of necessities.
D) An active market.
13. A) As the main investor he has provided a large sum of money
for the factory.
B) As a marketing expert he tries to sell the products over-
seas.
C) As a foreigner he introduces his knowledge about his coun-
try to his fellow Chinese workers.
D) As an engineer he spreads his knowledge and skills on mak-
ing pianos.

. Passage Two

Questions 14 to 16 are based on the passage you have just heard.
14. A) It is a multi-media language course.

B) It is published by BBC.
— 2 JP—



15.

16.

C) Ite English is more British.

D) Its Chinese translation is very good.

A) In October 1996. C) In March 1997.
B) In August 1996. D) In May 1997.

A) Starting businesses.

B) Business.
C) English used in Business.
D) English teaching.

Passage Three

Questions 17 to 20 are based on the passage you have just heard.

17.

18.
19.

20.

A) Fatigue caused 30 commercial airline crashes last year.

B) Fatigue caused about 30 auto accidents per year.

C) Fatigue caused 30 train wrecks from 1993 to 1995.

D) Fatigue caused about 30 per cent of fatal truck crashes.

A) Three. - B) Four. C) Five. D) Six.

A) Arms, legs and skin.

B) Heart, skin and body.

C) Lungs, arms and legs.

D) Heart, lungs and skin.

A) To replace fatigue operators before it is too late.

B) To force tired operators to continue until they finish their
work.

C) To keep operators alert all the time.

D) To support operators to work overtime.



Test 2

Section A

1. A) This novel is the longest.
B) The course requires a lot of reading.
C) 1t’s the only novel on the reading list.
D) The woman has just finished one novel.
2. A) 5:30. B) 5:15. C) 5:45. D) 5:00.
3. A) Maria likes to talk on the phone with her friends.
B) Maria’s friends don’ t call her very often.
C) Maria doesn’ t like to talk on the phone with her friends.
D) Maria doesn’t have any friends.
4. A) In bed. C) In a hotel.
B) In a friend’s home. D) At the cinema.
5. A) She knows her way around the city.
B) She’d like to join them.
C) The ride will take a day.
D) Sunday is a pleasant day.
6. A) David. : C) Bob.
B) Marry and Bob. D) Three of them.
7. A) It probably provides a campus map.
B) It also has a map of the city.
C) It is in the centre of the university campus.
D) It offers information about everything.
8. A) He hasn’t been admitted to university.
B) He is not informed about that.
C) He is not allowed to tell those person’s names.
D) He doesn’t know the persons’ names.
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9. A) A week from now. C) In about 11 days.
1) He hasn’t decided yet. D) In 5 days.
10. A) She’s happy to hear that Steven is in a good mood.
B) Steven is told to cheer up.
C) Steven is very pleased with his purchase.
D) Steven moved to a new place.

Section B

Passage One

Questions 11 to 13 are based on the passage you have just heard.

11. A) The 2:30. C) The 4:30.
B) The 3:30. D) The 5:30.

12. A) Reading an evening newspaper.
B) Playing chess with the man sitting across.
C) Playing puzzles by himself.
D) Talking with the man sitting across.
13. A) Either the speaker or the stranger ate other’s biscuits.
B) Neither of them ate other’s biscuits.
) Both of them ate other’s biscuits.

D) The speaker ate other’s biscuits.
Passage Two

Questions 14 to 16 are based on the passage you have just heard.
14. A) Food storage.
B) The production of milk.
C) Digestion.
D) The creation of cuds.

15. A) To produce beef. C) To provide income.
B) To provide leather. D) To produce milk.
16. A) Half of it comes from cows that do not produce enough
milk.

B) Much of it contains a lot of fat.



C) Half of it comes from dairy breeds.
D) Much of it is of poor quality.

Passage Three

Questions 17 to 20 are based on the passage you have just heard.
17. A) In south-east America. C) In south-east England.
B) In north-east England. D) In north-east America.
18. A) The man who owned the railway.
B) A horse wagon driver.
C) The builder of the steam locomotive.
D) A man called Stockton.

19. A) Rocket. C) Experiment.
B) Locomotion. D) Excitement.
20. A) In 1830. C) In 1813.
B) In 1825. D) In 1829.



Test 3

Section A

1.

A) 7:30. B) 8:20. C) 5:20. D) 4:10.

2.A) Buying the desk.

10.

B) Joining the other people.
C) Moving the desk.
D) Finding more people to help.

.A) At the theatre. C) In a restaurant.

B) At a hospital. D) In a furniture store.
.A) Boss and secretary. C) Teacher and student.
B) Father and daughter. D) Doctor and patient.

.A) Joe’s car is in scund condition.

B) Joe’s willing to lend them the car.
C) Joe will take them if he can.
D) Joe would rather go there on foot.

JA) §11. B) $22. C) $33. D) $44.
.A) She was impressed by the plot of the play.

B) She saw the play a long time ago.
C) She thought it wouldn’t be possible to get tickets.
D) She doesn’t care for the play.

.A) She wants to know if the man likes chop.

B) She wants to have some soup.
C) She has had dinner.

D) The man had dinner earlier.

.A) At a drugstore. C) At a butcher’s.

B) At a tailor’s. D) At a hairdresser’s.
A) No one can solve the problem.

B) Everybody can do it.

C) Ted can do it.

D) Jane should not do it.



Section B

Passage One

Questions 11 to 13 are based on the passage you have just heard.
11.A) Because he was his only child.
B) Because he was a boy.
C) Because he was going to be important.
D) Because he was going to be a painter.
12.A) That he had plenty of time.
B) That he had a lot of money.
C) That he looked after the museum:.
D) That he liked pigeons.
13. A) Because they liked 1o wander about the town.
B) Because they noticed everything that was going on.
() Because they both painted.
D) Because they looked so different.

Passage Two

Questions 14 to 16 are based on the passage you have just heard.
14.A) A physician. C) A psychologist.
B) A physicist. D) A politician.
15.A) It directly stimulates the body’s immune system.
B) It makes people laugh.
C) It protects people’s heart.
D) It cures people’s diseases.
16.A) Seven units a day.
B) Filteen units a week.
C) Fifty units a month.

D} Seven hundred units a year.
Passage Three

Questions 17 to 20 are based on the passage you have just heard.
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17.

18.

19.

20.

A) In the end of 19th century.

B) At the beginning of the 20th century.

C) In the end of 18th century.

D) At the beginning of the 19th century.

A) All the cars on display are newly designed.

B) The exhibition shows a collection of all the best cars in the
world.

C) The prices are unexpectedly low.

D) The car show exhibits a wide range of specifications and
competetive prices.

A) lts old fashion. C) Its new style.
R) Its high price. D) Its strange appearance.
A) More people are employed.

B) Fewer people are employed.
C) 80000 people are employed.
D) Only lean people are employed.



Test 4

Section A

1.

10.

A) The bus has broken down, and will not arrive.
B) The bus was in a terrible accident.

C) The bus will probably arrive at 9:15.

D) The bus may arrive two hours ahead of time.

. A) Pay the rent later.

B) Pay the utility fees only.
C) Pay several bills.
D) Make a telephone call.

. A) He wants the woman to call a doctor.

B) He wants to be sent to the hospital.
C) He doesn’t want to have breakfast.
D) He wants to have his meal in his room.

. A) $38.50. B) $38.15. C) $70. D) §$35.

. A) Student-student. C) Boss-employer.
B) Teacher-student. D) Sister-brother.
. A) At a library. C) At a school.
B) At grocer’s. D) At a repair shop.
. A) Yes, because the wcman agrees.

B) No, because there’s no time to buy it.
C) No, because he hasn’t got any money.
D) Yes, because he has enough time to buy it.

. A) English. B) German. C) French. D) Greek.
. A) 7. B) 23. C)s. D) none.
A) Go dancing. C) Go fishing.
B) Go swimming. D) Go shopping.
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